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1.47 x 50% = 8.47 x 40% =

5.48 x 70% = 4.69 x 30% =

6.51 x 40% = 0.29 x 20% =

2.4 % 20% = 7.89 x 10% =

7.19 x 70% = 7.85 x 90% =

4.43 x 20% = 2.42 % 90% =

2.35 x 30% = 4.61 x 20% =

4.34 % 20% = 5.26 x 20% =

5.6 x 50% = 5.79 x 90% =

1.43 x 80% = 1.23 x 90% =
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1.47 x 50% = 0.735

5.48 x70% = 3.836

6.51 x40% = 2.604

2.4 x20% = 0.48

7.19 x70% = 5.033

4.43 x 20% = 0.886

2.35 x30% = 0.705

4.34 x20% = 0.868

5.6 x50% = 2.8

1.43 x 80% = 1.144
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8.47 x 40% = 3.388

4.69 x 30% = 1.407

0.29 x 20% = 0.058

7.89 x 10% = 0.789

7.85 x 90% = 7.065

242 x90% = 2.178

4.61 x20% = 0.922

5.26 x20% = 1.052

5.79 x90% = 5.211

1.23 x 90% = 1.107
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